
 
 
 
 
 
 
 

-SCHOOL OF COMPETITIVE EXAMS 
 

TNPSC GENERAL STUDIES 2015 
 

CHEMISTRY 
 

A.E CIVIL EXAM 2015 
 

1. Which type of ores are purified by Froth flotation process? 
a. Oxide ore  b. Carbonate ore 
c. Sulphide ore  d. sulphate ore 
vt;tif jhJf;fs; Eiu kpjg;G Kiwapy; J}a;ikg;gLj;jg;gLfpwJ? 

a. Mf;i]L jhJ  b. fhh;gNdl; jhJ 
c. ry;igL jhJ   d. ry;Ngl; 
 

2. The best fertilizer is 
a. (NH4)2SO4(Ammonium sulphate) 
b. Urea 
c. CAN 
d. Ca(NO3)2CaO ( Basic calcium nitrate) 
ey;y cukhdJ 

a. (NH4)2SO4 (mk;Nkhdpak; ry;Ngl;) 

b.A+hpah 
c. CAN 
d. Ca(NO3)2CaO ( Basic calcium nitrate) 
 

3. pH of pure water is 
a. 7   b. 14  c. 0  d. 6 
J}a;ikahd ePhpd; pH kjpg;G 

a. 7   b. 14  c. 0  d. 6 
4. The compound used in photographic film is 

a. AgF- silver fluoride  b. AgCl-silver chloride 
c. AgBr-silver bromide  d. AgI-silver iodide 
Gifg;glr;RUspy; gad;gLk; Nrh;kk; _________ MFk;  
a. AgF - nts;sp /g;SiuL  b. AfCl-nts;sp FNshiuL 

c. AgBr -nts;sp GNuhikL  d. AgI -nts;sp mNahilL 
 

SIDDHA EXAM – 2015 CHEMISTRY 
 



 
1. The distance travelled by light in an year is  

a. 1.578 × 1015 m   b. 9.467 × 1015 m 
c. 3.156 × 1015 m   d. 9.467 × 10-15 m 
xspahdJntw;wplj;jpy; Xh; Mz;by; nry;yf;$banjhiyT 

a. 1.578 × 1015 m   b. 9.467 × 1015 m 
c. 3.156 × 1015 m   d. 9.467 × 10-15 m 

2. The Process used for the manufacture of ammonia is 
a. Contact process    b. Ostwald process  
c. Haber’s process   d. Linde’s process 
mk;NkhdpahitngUkstpy; jahhpf;Fk; Kiw 

a. ghprKiw    b. M];thy;LKiw 

c. N`gh; Kiw   d.ypz;NlKiw 

 
 

3. Which one of the following is not an Lewis base? 
a. C5H5N  b. H2O  c. OH-  d. AICI3 
fPo;fz;ltw;Ws; vitxd;W Y}ap]; fhuk; fpilahJ? 

a. C5H5N  b. H2O  c. OH-  d. AICI3 
 

NURSING EXAM-2014 [CHEMISTRY] 
 

1. Match List-I with List-II and select the correct answer using the codes given 
below the lists: 

List-I      List-II 
 a. Distilled water     1. 8.5 
 b. Vinegar solution    2. 7.3 
 c. Bar soap solution    3. 7.0 
 d. Human blood     4. 2.9 
  a b c d  
 A 2 3 4 1 
 B 4 3 2 1 
 C 2 1 4 3 
 D 3 4 1 2 
 gl;bay; I cld; gl;bay; IIIg; nghUj;jp gl;bay;fSf;Ff; fPNo cs;s 
njhFg;gpypUe;J rhpahd tpikapidj; njhpT nra;f. 
  gl;bay; I   gl;bay; II 

 a. thiy tLePh;   1. 8.5 

 b. tpdpfh; fiury;  2. 7.3 

 c. ghh; Nrhg; fiury;  3. 7.0 

 d. kdpj FUjp   4. 2.9 

  a b c d  
 A 2 3 4 1 
 B 4 3 2 1 
 C 2 1 4 3 
 D 3 4 1 2 
 

2. The amount of copper and gold that is denoted on 916 ornamental gold is 



 
a. 5 gm copper /24 gm gold  b. 2gm copper/22 gm gold 
c. 2 gm copper /24 gm gold  d. 16 gm copper/24 gm gold 
eiffs; nra;tjpy; 916 vd Fwpg;gpLk; NghJ jhkpuj;jpd; msTk;/jq;fj;jpd; 
msTk; _________ tpfpjj;jpd; ,Uf;fpwJ. 
a. 5 gm jhkpuk;/24 gm jq;fk; b. 2gm jhkpuk;/24 gm jq;fk; 

c. 2gm jhkpuk;/24 gm jq;fk; d. 16gm jhkpuk;/24 gm jq;fk; 

3. Consider the following statements: 
Assertion (A): Potassium Meta Bisulpite (PMS) is used for preserving fruits 
/juices 
Reason(R) : PMS reacts with the acid of fruit/juice and produces SO2 which 
kills microorganisms. 
a. (A) is true but (R) does not explains (A) 
b. Both (A) and (R) true, (R) explains (A) 
c. (A) is true (R) is false 
d. Both (A) and (R) are false. 
fPo;fz;l thf;fpaq;fis ftdp: 

$w;W(A) : nghl;lhrpak; nkl;lh igry;igl; (PMS) gor;rhWfis ghJfhf;fg; 
gad;gLfpwJ. 

fhuzk; (R) : PMS gor;rhwpy; cs;s mkpyj;Jld; tpid Ghpe;J SO2 

cUthf;FfpwJ SO2 Ez;Zap;h;fis mopf;fpwJ. 

a. (A) rhp Mdhy; (R) (A)-tpw;F rhpahd tpsf;fky;y 
b. (A) kw;Wk; (R) ,uz;lk; rhp NkYk; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;Fk;  

c. (A) rhp Mdhy; (R) jtW 
d. (A) kw;Wk; (R) ,uz;Lk; jtW 

 
 

HEALTH OFFICER 2015 
 

1. The reagent used in the conversion of benzene diazonium chloride to phenyl 
cyanide 
A. HBF4/NaNO2, Cu Powder B. KCN and DilHCl 
C. CuCN2 and aqueous KCN  D. KCN solution / Cu 
ngd;rPd; ilNrhdpak; FNshiuL>gPidy; raidlhfkhWtjw;Fgad;gLj;Jk; 
fuzpahJ? 

A. HBF4/NaNO2, Cu gTlh; B. KCN kw;Wk; ePh;j;jHCl 
C. CuCN2 / ePh; fye;j KCN D. KCN fiury; /fhg;gh; 
 

2. Which one of the polymers contain nitrogen? 
A. PVC  B. Teflon  C. Nylon - 66 D. Terylene 
ve;jxUgy;YWg;gpaypy; iel;u[d; cs;sJ? 

A. PVC  B. nl/g;yhd; C.ieyhd; - 66 D. nlh;ypd; 

 
3. For the filtration between Oxalic acid and Sodium hydroxide the indicator 

used in 



 
A. Potassium Permanganate  B. Phenolphthalein 
C. Litmus     D. Methyl Orange 
Mf;rhypf; mkpyj;ijNrhbak; i`l;uhf;irLld; juk; ghh;f;Fk; 
NghJgad;gLj;jg;gLk; epwq;fhl;b 

A. nghl;lhrpak; ngh;khq;fNdl; B. gpdhy;g;jyPd;  
C.ypl;k];     D. nkj;jpy; MuQ;R 

 
GROUP II 2015 - CHEMISTRY 

1. Auto ionisation of H2O leads to the formation of 
a. 3H O+   b. OH-  c. H+  d. H3O+ and OH- 

jz;zPh; jhdhfrpijTmilAk; NghJfpilg;gJ 

a. 3H O+   b. OH-  c. H+  d. H3O+ kw;Wk; OH- 

 

2. Arrange the following in increasing order of their pH values : 
I. Human Blood    
II. Stomach acid 
III. Pure water 
IV. Milk 
a. II, III, IV and I    b. II, I, III and IV 
c. II, IV, III and I    d. I, III, IV and II 
fPo;f;fhz;gitfismtw;wpd; kjpg;Gfspd; mbg;gilapy; VWthpirapy; 
mikf;fTk;: 

I. kdpjFUjp 
II. ,iug;igmkpyk;  

III. J}aePh;  
IV. ghy;  
a. II, III, IV kw;Wk; I   b. II, I, III kw;Wk; IV 
c. II, IV, III kw;Wk; I   d. I, III, IV kw;Wk; II 
 

3. Which one of the following is not an allotrope of carbon? 
a. Diamond b. Graphite  c. Fullerene  d. Butane 
gpd;tUtdtw;wpy; fhh;gdpd; GwNtw;WikNjhw;wk; my;yhjJvJ? 

a. ituk;  b.fpuh/igl; c. Gy;yhpd;  d. gpA+Nld;  
 

4. Match List I with List II the correct answer using the codes given in the 
options : 
                 List I     List II 
A. First Generation Pesticides 1. Pheromones 
B. Second Generation Pesticides 2. Juvenile Hormones 
C. Third Generation Pesticides 3. Pyrethrins 
D. Fourth Generation Pesticides 4. Organo phosphates 
 A B C D 
a. 1 4 2 3 

 b. 2 3 4 1 



 
 c. 3 4 1 2 
 d. 4 2 3 1 

thpirIcld;>thpirIIapidnghUj;jp>thpirfSf;FfPo; 
nfhLf;fg;gl;Ls;snjhFg;gpypUe;Jrhpahdtpilapidj; njhpTnra;f: 

 thpirI      thpirII 
A. Kjy; jiyKiwG+r;rpf;nfhy;yp   1. /ngNuhNkhd;]; 

B. ,uz;lhk; jiyKiwG+r;rpf;nfhy;yp  2. [{ntidy; `hh;Nkhd;]; 

C. %d;whk; jiyKiwG+r;rpf;nfhy;yp  3. ignuj;hpd;]; 

D. ehd;fhk; jiyKiwG+r;rpf;nfhy;yp  4. Mh;fNdh/gh];Ngl;]; 

  A B C D 
a. 1 4 2 3 

  b. 2 3 4 1 
  c. 3 4 1 2 
  d. 4 2 3 1 
 

GROUP I EXAM – 2015 
 

1. For the Daniel cell E° = 1.10 V. The value of equilibrium constant (K) for the 
reaction (at 298 K) is 

2 2
( ) ( ) ( ) ( )s aq aq sZn Cu Zn Cu++ → +  

a. 4.36 × 1039     b. 2.79 × 1041  
c. 6.53 × 1035     d. 1.55 × 1037 
Nldpay; fyj;jpd; vdpy; fPo;fz;ltpidapd; (298Ky;) rkepiykhwpyp (K)-apd; 
kjpg;G? 

2 2
( ) ( ) ( ) ( )s aq aq sZn Cu Zn Cu++ → +  

a. 4.36 × 1039     b. 2.79 × 1041  
c. 6.53 × 1035     d. 1.55 × 1037 

 

2. An example of commonly used herbicide is  
a. P, Pˊ- dichlordiphenyltrichloro ethane 
b. 2, 4 – dichlorophenoxy acetic acid 
c. Benzene hexachoride 
d. Naphthalene 
nghJthfg; gad;gLj;jg;gLk; fisf;nfhy;yp 

a.p, p’ –ilFNshNuhilgpidy; biuFNshNuh<j;Njd;  
b. 2> 4 –ilFNshNuhgPdhf;]pmrpl;bf; mkpyk;  

c. ngd;rPd; n`f;rhFNshiuL 

d. eh/g;jyPd;  
 

3. Match the following : 
A. Na and K  - i. Obtained by electrolysis of fused salt 
B. Cu and Ag  - ii. Occur only in native state 
C. Au and Pt  - iii. Occur both native and combined state 
D. Na and Ca  - iv. Reducing agent in metallurgy 



 
E. Al and Mg  - v. Occur only in combined state 
a. A. – v  B. – iii C. - ii  D. – i  E. - iv  
b. A. – iv  B. – i  C. - ii  D. – iii E. – v 
c. A. – ii  B. – iii C. - v  D. – iv E. - i  
d. A. – iii  B. – ii  C. - i  D. – v E. - iv  
nghUj;Jf: 

a. Nakw;Wk; K  - i. cUfpacg;igkpd;dhw;gFj;jypy; fpilf;fpwJ 

b. Cukw;Wk; Ag  - ii.jdpj;jepiyapy; kl;Lk; fpilf;fpwJ 
c. Aukw;Wk; Pt  - iii. jdpj;jkw;Wk; Nrh;e;jepiyapy; fpilf;fpwJ 
d. Nakw;Wk; Ca  - iv.cNyhftpaypy; xLf;Ffuzp 

e. Alkw;Wk; Mg  - v.Nrh;e;jepiyapy; kl;LNkfpilf;fpwJ 
a. A. – v  B. – iii C. - ii  D. – i  E. - iv  
b. A. – iv  B. – i  C. - ii  D. – iii E. – v 
c. A. – ii  B. – iii C. - v  D. – iv E. - i  
d. A. – iii  B. – ii  C. - i  D. – v E. - iv  

  
4. Which of the following is/are wrong? 

I. Mg2C3 on hydrolysis gives acetylene 
II. Be2C on hydrolysis gives methane 
III. Al4C3 on hydrolysis gives allylene 
a. I and II  b. II and III  c. I and III  d. I, II and III 
gpd;tUtdtw;Ws; jtwhditvJ/vit? 
I. Mg2C3epuhw;gFg;Gmile;Jmrpl;byPidj; jUk;  

II. Be2C ePuhw;gFg;Gmile;JkPj;NjidntspapLk;  

III. Al4C3ePuhw;gFg;Gmile;Jmy;yPiyidj; jUk;  

a. I kw;Wk; II   b. II kw;Wk; III  
c. I kw;Wk; III   d. I, II kw;Wk; III 

 
5. New elements and rare-earths are discovered and fixed in the periodic table 

using  
a. Bragg’s law    b. Moseley’s law 
c. Compton’s effect   d. Bravais lattices 
GJj; jdpkq;fs; kw;Wk; mhpaGtpj; jdpkq;fs; 
fz;lwpag;glTk;>jdpkthpirml;ltizapy; nghUj;jg;glTk; gad;gLtJ 

a. gpuhfpd; tpjp    b. Nkhrypapd; tpjp 
c. fhk;g;ld; tpisT   d.gpuhit]; mzpf;Nfhit 
 

6. Arrange the following int eh order of increasing solubility in water 
 i. NaHCO3  ii. KHCO3  iii.Mg(HCO3)2 iv. Ca(HCO3)2 
 a. iv < iii < ii < i   b. i < ii < iii < iv  
 c. ii < iii < i < iv    d. iii < i , iv < ii  
 gpd;tUk; Nrh;kq;fismtw;wpd; ePhpy; fiuAk; jpwdpd; VWthpirapy; vOJf.  

 i. NaHCO3 ii. KHCO3  iii.Mg(HCO3)2 iv. Ca(HCO3)2 
 a. iv < iii < ii < i   b. i < ii < iii < iv  



 
 c. ii < iii < i < iv    d. iii < i , iv < ii  
 

7. Match the following:  
 Actinide element   Atomic number  
 A. Plutonium    1. 102 

 B. Curium   2. 100 
 C. Fermium   3. 96 
 D. Nobelium   4. 94 
  A B C D 
 a. 1 2 3 4 
 b. 3 4 1 2  
 c. 3 4 2 1  
 d.  4 3 2 1 
 rhpahfnghUj;Jf: 
   Mf;bidLjdpkk;  mZvz; 

 A. G@l;Nlhdpak;    1. 102  

 B.f;A+hpak;     2. 100 

 C. ngh;kpak;    3. 96 

 D. Nehgpypak;     4. 94 

  A B C D 
 a. 1 2 3 4 
 b. 3 4 1 2  
 c. 3 4 2 1  
 d.  4 3 2 1 
 

8. Match the Number of electrons transferred (a) when one mole of KMnO4 is 
reduced to (b)  
A. 1,   3,   4,   4 
B. Mn2O3, MnO2, MnO 2

4
− , Mn2+ 

a. 1 -  MnO 2
4
− ,  3 - MnO2,   4 - Mn2O3,   5- Mn2+ 

b. 1 -  Mn2+,  3 - Mn2O3,   4 - MnO2,  5 - MnO 2
4
− ,  

c. 1-  MnO2,  3 - MnO 2
4
− ,   4- Mn2+ 5 - Mn2O3,  

d. 1 - Mn2O3,  3- Mn2+  4 - MnO 2
4
−  5 -  MnO2,  

flj;jg;gLk; vyf;l;uhd;fspd; vz;zpf;if (a)–I xUNkhy; xLf;fg;gLk; 

NghJcz;lhFk; njhlh;ghdmikg;GfNshL (b) nghUj;jpf;fhl;Lf.  
A. 1,   3,   4,   4 
B. Mn2O3, MnO2, MnO 2

4
− , Mn2+ 

a. 1 -  MnO 2
4
− ,  3 - MnO2,   4 - Mn2O3,   5- Mn2+ 

b. 1 -  Mn2+,  3 - Mn2O3,   4 - MnO2,  5 - MnO 2
4
− ,  

c. 1-  MnO2,  3 - MnO 2
4
− ,   4- Mn2+ 5 - Mn2O3,  

d. 1 - Mn2O3,  3- Mn2+  4 - MnO 2
4
−  5 -  MnO2, 

 
CHILD DEVELOPMENT OFFICER – 2015 



 
 

1. Ammonia is manufactured by 
a. Solvay process     b. Haber process  
c. Birkland and Eyde process   d. Claude’s process 
mk;Nkhdpahjahhpf;Fk; Kiw 

a. rhy;NtKiw    b. N`gh; Kiw 

c.gphpf;Nyz;l; kw;Wk; XL Kiw d. fpdhl;]; Kiw 
 

2. Which one of the following is known as ‘Dry ice’? 
a. Solid carbon dioxide   b. Liquid carbon dioxide  
c. gaseous carbon dioxide   d. liquid silicon dioxide  
fPo;fz;ltw;Ws; vij‘cyh; gdpf;fl;b’vd;Wmiof;fpd;Nwhk;? 

a. jplepiyfhh;gd; ilMf;i]L  

b. ePh;epiyfhh;gd; ilMf;i]L 

c. thAepiyfhh;gd; ilMd;i]L   

d. ePh;epiyrpypf;fhd; ilMf;i]L 
 

3. Select the wrong statement  
a. Calamine is a carbonate   b. Argentite is an oxide  
c. Zinc blende is a sulphide   d. Malachite is an ore of copper  
jtwhdnrhw;nwhliuf; fz;Lgpbf;fTk;  

a.fhyikd; xUfhh;gNdl;  

b.mh;n[d;ill; Xh; Mf;i]L 

c. Jj;jehfg;nsz;l; (zinc blende) xUry;igL 
d.khyifl; vd;gJjhkpuj;jpd; xUjhJg; nghUs;  
 

4.  Which of the following triads are referred to as coinage metals? 
I. Li, K, Na 
II. Be, Mg, Ca 
III. B, Al, Ga 
IV. Cu, Ag, Au 

 a. I   b. II   c. III    d. IV  
fPo;f;fz;lKk;ik (triad) fspy; ve;j %d;WcNyhfq;fisf; 
nfhz;lKk;ikehzacNyhfq;fs;  

 I. Li, K, Na 
II. Be, Mg, Ca 
III. B, Al, Ga 
IV. Cu, Ag, Au 

 a. I   b. II   c. III    d. IV 
 

CHEMIST IN TAMILNADU 2015 – CHEMISTRY 
 

1. One of the following method is NOT useful for the purification of metal 
a. Electrolytic refining    b. Zone refining  
c. Mond’s process    d. Calcination  



 
 

2. Oxidation number of carbon in CH4, CH3cl, CHcl3 and Ccl4 are  
a. +4, -2, +2, -4   b. -4, -2, +2, +4 
c. +4, +2, -2, -4   d. -4, -2, +4, +2 
 

3. The meson theory of nuclear was proposed by 
a. Fermi  b. Yukawa  c. Lyman  d. Rutherford 
 

4. Identify the odd one from the group of chemical given below: 1) A 2) B 3) C 
4) D 
a. BHC  b. DDT  c. 2, 4D   d. CAN 
 

5. Anaesthetic used for minor operation dentistry. 
a. Nitrous oxide     b. Nitric oxide  
c. Nitrous oxide +O2   d. Nitrogen dioxide  
 

6. Identify the substance which is not optically active: 
a. Cinnabar  b. Sugar solution  c. Turpentine oil  d. Wood  

 
 

ASSISTANT AGRI OFFICER 2015 CHEMISTRY 
 

1. Match the following with suitable options:  
List I    List II 
(Name)  (Formula) 

 a. Washing soda    1. ZnSO4. 7H2O 
 b. White Vitriol    2. FeSO4.7H2O 
 c. Blue Vitriol    3. Na2CO3.10H2O  
 d. Green Vitriol   4. CuSO4.5H2O 
   a b c d 
  A. 2 4 3 1  
  B. 1 3 4 2  
  C. 3 1 2 4  
  D. 3 1 4 2  
 gl;bay; IypUe;Jgl;bay; IIiarhpahfnghUj;Jf:\ 
  gl;bay; I    gl;bay; II 
  (ngah;)   (tha;ghL) 

 A. ryitr; Nrhlh  1.ZnSO4. 7H2O 

 B.nts;istpl;hpahy;  2. FeSO4.7H2O 

 C. ePytpl;hpahy;   3 Na2CO3.10H2O  
 D. gr;irtpl;hpahy;   4. CuSO4.5H2O 
   a b c d 
  A. 2 4 3 1  
  B. 1 3 4 2  
  C. 3 1 2 4  



 
  D. 3 1 4 2  
 

2. The destroy of enzyme present in the papaya fruit is prevented by using the 
chemical is  
A. Potassium meta bisulphate  B. Potassium meta bisulphite 
C. Sodium meta bisulphate  D. Sodium meta bisulphite 
gg;ghspapy; cs;snehjpg; nghUs; Nrjk; miltijjLf;fg;gad;gLk; 
Ntjpg;nghUs;  

A.nghl;lhrpak; nkl;lhigry;Ngl; B.nghl;lhrpak; nkl;lhigry;igl; 
C. Nrhbak; nkl;lhigry;Ngl;  D. Nrhbak; nkl;lhigry;igl;  
 

3. Coal is a compost primarily  
A. Corbon  B. Sulphur   C. Hydrogen  D. Nitrogen  
epyf;fhpapy; Kf;fpakhdgq;iftfpg;gJ 

A. fhh;gd;  B. fe;jfk;   C. i`l;u[d;  D. iel;u[d;  

 
4. Match the following:  

a. Dibasic acid    1. H3PO4 
b. DiAcidic base    2. Al(OH)3 
c. Tribasic Acid   3. H2SO4 
d. Triacidic Base   4. Ca(OH)2 
  a b c d  
 A. 3 4 1 2  
 B.  4 1 3 2 
 C. 3 1 2 4  
 D. 4 2 3 1  
fPo;f;fz;ltw;iwnghUj;Jf: 

a. ,Ufhuj;Jtmkpyk;   1. H3PO4 
b. <h; mkpyj;Jtfhuk;   2. Al(OH)3 
c. Kffhuj;Jtmkpyk;   3. H2SO4 

d. %d;Wmkpyj;Jtfhuk;  4. Ca(OH)2 
  a b c d  
 A. 3 4 1 2  
 B.  4 1 3 2 
 C. 3 1 2 4  
 D. 4 2 3 1  
 

5.  The number of molecules present in 11 gram of CO2 is  
A. 1.51 × 1023 molecules  B. 1.51 × 1022 molecules  
C. 6.023 × 1023 molecules   D. 6.023 × 1022 molecules 
11 fpuhk; CO2tpy; cs;s %yf;$Wfspd; vz;zpf;if 

A.1.51 × 1023%yf;$Wfs;  B.1.51 × 1022%yf;$Wfs; 

C. 6.023 × 1023%yf;$Wfs;   D.6.023 × 1022%yf;$Wfs; 
 

 



 
ASSISTANT STATISTICAL OFFICER 2015 

 
1. The Oxidation of Ni in [Ni(CO)4] is 

a. +4   b. +2   c. +3   d. 0 
[Ni(CO)4] y; Nid; Mf;]p[Ndw;wepiy________MFk;.  

a. +4   b. +2   c. +3   d. 0 
 

2. Which of the following statements are incorrect with respect to the allotropes 
of carbon? 
I. Diamond is extremely hard while graphite is soft 
II. Diamond is ionic but graphite is covalent  
III. Diamond is a non-conductor but graphite is a good conductor of 
electricity  
IV. Diamond has a layered structure while graphite has a network structure  
a. I and II  b. I,II and IV c. I,III and IV d. II and IV 
gpd;tUtdtw;Ws; ve;j $w;Wf;fs; fhh;gdpd; GwNtw;WUf;fisg; 
nghWj;Jjtwhdit? 

I.ituk; kpff; fbdkhdJkhwhffpuhigl; kpUJthdJ 
II.ituk; madpgpizg;GilaJMdhy; fpuhigl; rfgpizg;GilaJ 

III.ituk; xUkpd;flj;jhnghUs; Mdhy; fpuhigl; xUrpwe;jkpd;flj;jp 

IV.ituk; mLf;Ff; fl;likg;ignfhz;lJMdhy; fpuhigl; 
tiyafl;likg;igcilaJ 

a. I kw;Wk; II    b. I, II kw;Wk; IV 
c. I, III kw;Wk; IV  d. II kw;Wk; IV  
 

3. The atomic symbol used for the elememt Tungsten is 
a. U   b. V   c. W   d. Ti 
lq;];ld; jdpkj;jpw;Fg; gad;gLj;jg;gLk; mZf; FwpaPLvJ? 

a. U   b. V   c. W   d. Ti 
 

4. When Aluminium is bombarded with fast neutrons it changes into Sodium 
with emission of particle ’x’ according to the equation 
27 1 24
13 0 11AI n Na x+ → + What is x? 
a. Electron  b. Proton  c. Neutron  d. Alpha particle 
mjpNtfepA+l;uhd;fs; mYkpdpacNyfj;jpd; kPJNkhJk; NghJmJNrhbak; 

cNyhfkhfkhWfpwJ. mg;NghJ‘x’vDk; Jfs; 
ntspahtjw;fhdrkd;ghLjug;gl;Ls;sJ.  
27 1 24
13 0 11AI n Na x+ → + ,jpy; xvd;gJvJ?  
a. vnyf;l;uhd;  b.GNuhl;lhd; c. epA+l;uhd;  d. My;ghJfs;  
 
 

5.  Which of the following is correctly matched? 
I. Haematite ore   -  Oxide of Iron 
II. Magnetite          -  Hydrated Iron-Oxide 
III. Limonite            -  Iron carbonate 



 
IV. Siderite              -  Black ore   
a. I  b. II    c. III    d. IV 
fPo;fz;ltw;Ws; rhpahdnghUj;jg;gl;Ls;sJvJ? 

I.N`kill; jhJ  - madpahf;fk;  

II. Nkf;dill;   - ePh;kmadpNaw;wk;  

III. ypNkhidl;   - ,Uk;Gfhh;gNdw;wk;  

IV. rpliul;   - fUg;GjhJ 

a. I  b. II    c. III    d. IV 
 

6. Consider the following statements: 
a) Calcium is alkaline earth metal 
b) Lithium is alkali metal 

           a. (a) alone is correct   b. (b) alone is correct 
c. Both (a) and (b) are correct d. Both (a) and (b) are wrong 

fPo;f;fz;l $w;Wfisftdpf;fTk;: 

a. fhy;rpak; vd;gJfhukz; cNyhfkhFk;.  

b. ypj;jpak; vd;gJfhucNyhfkhFk;.  

a. a kl;LNkrhp    b. b kl;LNkrhp 
c. a kw;Wk; b ,uz;Lk; rhp  d. a kw;Wk; b ,uz;Lk; jtW 
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